Rapid Reasoning | Questions Year5 | Week1 | Day5

0 come @ (52 ()

Number in words Number in numerals

Jordan takes three cards and multiplies
the digits together.

four hundred . ..
and two thousand Aliyah takes the remaining three cards

and eleven and multiplies them.

They both make the same total.

What is the total that both children make?
675,306

one hundred 1 mark
and twelve thousand
B [s)le)l7) + [2)3]3]

Change one digit in the calculation so that
the answer is a multiple of 10.

2 marks

1 mark
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